Measurement of Angles
2 Systems

1) Degree - unit symbol is
-ex. 35 vs 35
2) Radian - has no unit symbol

S - arc length

O (in radians) = arc length = s 0=S
radius r r

The central angle is subtended or "covered" by an arc length
(for a given radius)



The Connection -> Degrees to Rads
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Converting Degrees <= Radians

27T = 360

ex 1) How many radians is:
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ex 2) How many degrees is:
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Word Problems Radians @i%

<
1) Find 6 in radians if the arc length is 1.8 cm and radius is 1.2 gm.

. S
2) A circle has a radius of 3.6 m. A string of 61T m is stretched along the

Cir ference.What is the central angle subtended by the arc in
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3) a) Calculate the length of a radius,if the length of

the arc is 16 cm and the central angle is 80°. O reust be
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b) What is the area of the circle? ]L\: T S
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4) An ant is crawling around the edge of a frisbee and gets stuck.
Find the distance the ant has travelled if the diameter is

14 inches and the central angle is 60°. O=_S_
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Conversion Word Problems key
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